G-LISTNo. | TH1143
Va—=F«420 OQo09v200

V COATED* LONG SHANK

V-LT-POT

=
e 2
=]
—— ———R= : p——
THLGTH CHARTS
_ al . 4P etk
= Tk
HSSE
Vv
Y

B :mm  Unit:mm 0

| 2R |[QUR[ETR o8 BN B am| E e (Eehn PRI IO EA R | B | 2% GUR| HTRE o8 N T frE| S
EDP NO. LF |THLGTH| LU [DCON|NOF | P! stack | (g) | (Yen) LI VoMM IR El Grade | MPUnit| Bc | LF [THLGTH| LU |DCON|NOF | ! siock | (g) | (Yen)
8316210/ M 3 x0.5 100] 11| 19] 4 | B | 11| 4970| 8316258 M14 X2 | STD |OH4 150 30| 48/10.5] | — | 109(13,500 3,
8316213|M 4 X0.7 100] 13| 21| 5 | H | | 16/ 4640 [8316262| M14 X1.5 | STD[OH3 150| 30| 48/105 | — | 109(13,500 4
8316216|M 5 X0.8 |STD OH2 100 16| 24| 55| | & | 19| 4250/ 8316265 M16 X2 | STD |OH4 150 32| 52(125 | - | 151{14,800 1 ¢
8316219 M6 X1 1100 | 191 29 6 | & | 23] 3850 8316269 M16 X1.5 |STD |OH3 150| 32| 52125 | — | 153[14,800 A
8316221 150 | | | 34| 6,570 |8316272| M18 X2.5 150 37| 55|14 =2 188(19,000
8316223 100 i 28| 4670, |B316275 M18 X1.5 150| 37| 55/14 = 189/19,000 e
8316225 ki STD | OH3 i 150 R L | E | & 39/ 7830, |B8316278| M20 X2.5 Ak 150| 37| 58|15 } = | a 218(22,800 5:;
8316232\ M10 X1.5 150| 24| 41| 7 il | 52| 8910 [8316281| M20 X1.5 STD | OH4 150 37| 58|15 5=l 220|22,800 I-I:
8316236\ M10 X1.25 150 24| 41 7 |E= 52) 8910, |8316285/ M22 X2.5 200| 38| 63[17 EX 367/305000 E°
8316243| M12 X1.75| STD | OH4 150) 29| 48| 85| | — | | 75/10900] [8316288) M22 X1.5 200| 38| 63[17 (=l 368|30,500
8316247 M12 X1.5 |STD |OH3 150| 29| 48| 85 |:=] 75/10,900 8316291 M24 X3 200| 45| 66|19 = | 453|36,200
8316251/ M12 X1.25| STD |OH4 150| 29| 48| 85| | | 75/10900) [8316294/ M24 X1.5 200| 45| 66[19 = 453362000 =
BRHLEYIRE - ¥ v OWASE Bk, DRVS[FP.O99ZECHTEL. B Please see p.299 for length of external center and shank square length £k and width DRVS. J;_i:
1. ¥EEH [F2fMRUESEROY vy THEEETY, (P8178H) 1. The recommended TAP Limit corresponds to JIS class 2 internal thread =
2. 7w TIBERHRUBEERIETLHIEOTESELA. standard. (see p.817)
3. NEGhE], ~—ARFEP.O75ETEBTEL, 2. TAP Limit does not guarantee thread limit for the internal thread after tapping.

3. Cutting fluid and Paste : Please refer to p.975.
5]
OSGAPS=Y—-X
=~ " x
EUB vy U - 2 Parts & Supply series ﬁii?fg?g?égggfkmkmo

SKEMIIITRZEEICUY ATV T B EDTTHE

[ V66( FEIXEPHES. BERROWEBHIOI »»»> P.6

L] e N — WA 1 9541 s 7Nz | U= [ouEnag] 7ov N EteaTen -
o sxnﬁl"’mﬂ aes p— g | R R | B R gy | Wt sowmacnn) w0 | A% | B2 BT
ek Low Carbon| Medium | High Ay Hardened Sieel Starvess | TociSteel | Cant Cart Ductile | Copper | Brass Brass | Brorze |Ahaminm | Suminum| Magresium| Zinc Aloy | Taarium | Nickel | Themo | Thermo Bk e
Sweel | Caben | Carbon | Sweed Sl Stee| bon Cat Carsting Fodlled Aoy Aoy | Casting | Ally Ay | Setting | Plastic Vo= ST
Wid Steel| Gl | Sl von Carting | Casing Plasic 7
TS C |C02s%h| C 25~35(35~45145 ~50| 50 ~60
sporevition | ~025%|~045wj0asw~| M | Tac”| "o | o |hec | S | D | SC | K RD Q| B | BC) M) AL JACNX) MC ) X gt
VAIT-POT | ©O |© | O | O | O O|O|O o o N I I e O T e O O e B O | 97
AB.C.D=AZ#7EEm A.B.C.D=5tandard stock item. O=EREETEER [=Stocked by specific distributors, Contact us for price & availability. |

B P JOWBEFPIZCE TFELL.  Seepl forexplanation of icons. 664



